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2 3 (151) 54.3 45.0 0.7 100.0
3~ 4 3 (129) 58.1 1.9 0.0 100.0
5 3| O|A (242) 50.0 50.0 0.0 100.0
st= MF 7[7t
z p|at (283) 59.7 39.9 04 100.0
1Z= 0|At ~ 2z O|gt (152) 539 454 0.7 100.0
27 O|AF ~ 17H¥ ojgt (112) 55.4 446 0.0 100.0
17HE o|A ~ 374 ojat (62) 59.7 40.3 0.0 100.0
MY ol ~ 674 ojot (57) 474 52.6 0.0 100.0
670E o4 ~ 14 ojot (16) 62.5 375 0.0 100.0
14 oAt (28) 57.1 429 0.0 100.0
st=0f &=
OAAE T (27) 481 51.9 0.0 100.0
Ztetst 38t Jtks (100) 55.0 45.0 0.0 100.0
Chofot ol M= (251) 54.6 454 0.0 100.0
™5 =&t (332) 59.6 39.8 0.6 100.0
o ohl HI| 2 Y
et I ] (526) 574 422 04 100.0
=5 0|8 (184) 54.9 451 0.0 100.0
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o

= 21101 ¢l S T2 X|5io| U=O| By | MEE FALETA
SEA Bx®
(E+9] %)
Base=7x| Al (H) A
m x| = (710) 100.0
o =
= Xt (351) 49.4
of Xt (359) 50.6
g 29
THO—20A]| (135) 19.0
D30—39A]| (140) 19.7
Ot40—49A| (158) 22.3
O150—-59A| (140) 19.7
OH6OM| O|A (137) 19.3
St 92 3l
1 3] (188) 26.5
2 3] (151) 21.3
3~ 43 (129) 18.2
5 3| oA (242) 34.1
st=2 XMF 712t
1% Ojgt (283) 39.9
1= 0|Ab ~ 2z O|ot (152) 21.4
22 0|4 ~ 1JHE ojgt (112) 15.8
170 oA ~ 371 o|at (62) 8.7
37HE oA ~ 67iE ojot (57) 8.0
670 oA ~ 1A ojot (16) 2.3
14 o4 (28) 3.9
St=0{ Al
SMAS Tts (27) 3.8
terst 3|3t Tts (100) 141
{2t ot M= (251) 35.4
My 28 (332) 46.8
2 ot U 2 EE
=M 4 (526) 74.1
= 0|48 (184) 25.9
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[ 1] 8= o & 2t ohf| EX[Ee| 7| WaAloZ olst EH AEH
[24] =2 e o 2tz ohll EX|Ee| ®7| EAlo=z Qs EEHES L7 Ho| JA&U»?
(k9| : %)
Sh{o L7 S L7
Base=%1x| s (H) 0| QI 0| gict A
m Fx| m (710) 741 25.9 100.0
o =
ot Xt (351) 77.8 222 100.0
of Xt (359) 70.5 29.5 100.0
il =
THO—29A| (135) 71.9 28.1 100.0
TH30—39A]| (140) 714 28.6 100.0
Tt40—49X| (158) 75.3 247 100.0
Tt50—59A| (140) 75.7 24.3 100.0
THBOM| O|AF (137) 75.9 241 100.0
St 92 3l
1 3] (188) 79.8 20.2 100.0
2 3| (151) 81.5 18.5 100.0
3~ 4 3 (129) 70.5 29.5 100.0
5 3 0| (242) 66.9 33.1 100.0
st= MF 7|7t
1% ojgt (283) 78.8 21.2 100.0
13 0|&h ~ 23 oot (152) 75.0 25.0 100.0
22 O|AF ~ 17H€ o|gt (112) 69.6 30.4 100.0
17He of&h ~ 37HE o|at (62) 61.3 38.7 100.0
370 o|a ~ 67He oot (57) 78.9 21.1 100.0
670 oA ~ 14 ojot (16) 63.8 31.3 100.0
149 of4 (28) 60.7 39.3 100.0
st=0{ A=
OANAE THs (27) 63.0 37.0 100.0
Zickst 3|51 7Hs (100) 64.0 36.0 100.0
SOt o= AT (251) 78.1 21.9 100.0
M| 25t (332) 75.0 25.0 100.0
=g ot o) 2 EH
=28 &g (526) 100.0 0.0 100.0
2m 0|48y (184) 0.0 100.0 100.0
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2 X[HO| L=0] 2V | MS= AL ELIAM

[E 2-1] 2& okl EX[HEof st 2[4 1) EX[EO| &= & Jolz2 EI|=of olalist?| ot
[25-1] & ohfl EX|E3 zHE chS Atgol sl oL Mty
1)EX|Ho| g2 ¥ JHE E7|=l0 o[sf317| ofHct
(e
24
Base=Z| Ml (B) | @I @ESolc @ng' A
LS
m x| = (710) 43.4 39.9 16.8 100.0
o £
=i Xt (351) 425 1413 16.2 100.0
o Xt (359) 443 38.4 17.3 100.0
ﬁ =5
OHO—29AM| (135) 452 36.3 18.5 100.0
B30—-39A| (140) 321 471 20.7 100.0
BH40—-49AM| (158) 38.0 40.5 21.5 100.0
BE50—-59A]l (140) 493 40.0 10.7 100.0
OHGOAM| OfAf (137) 53.3 35.0 1.7 100.0
ot= &HE 2l
1 3| (188) 46.8 415 1.7 100.0
2 3| (151) 457 43.7 10.6 100.0
3~ 4 3 (129) 40.3 35.7 24.0 100.0
5 3| oA (242) 40.9 38.4 20.7 100.0
st= AMF 717t
1% 0|2t (283) 477 39.2 13.1 100.0
Z= 0| ~ 2z O|g2t (152) 40.8 441 15.1 100.0
2% 0|& ~ 1JHE ojgt (112) 44.6 34.8 20.5 100.0
170HE ol4 ~ 374 ojzt (62) 33.9 40.3 25.8 100.0
37HE ol ~ 67HE oOjTt (57) 404 40.4 19.3 100.0
670 Ol|& ~ 13 OJat (16) 50.0 31.3 18.8 100.0
1E oAt (28) 321 46.4 21.4 100.0
ot=0| A=
OINAE Tts (27) 259 40.7 33.3 100.0
2HiEtSt 3|8 7t (100) 26.0 51.0 23.0 100.0
o2t Ol A= (251) 14 442 14.3 100.0
T =&t (332) 51.5 33.1 15.4 100.0
2 ot 2| 2 4
=1 ¥ (526) 511 38.6 10.3 100.0
20 n|dd (184) 21.2 435 35.3 100.0




o= 2R X|HO| L=0] 37| M3 AL ETIAM

[E 2-2] &2 ohfl EX|EHol| cist o|A 2) sh=4l sXl=2 ZEI|E Zio| ol olast7| ofFct
[25-2] && ohfl EX|Eal aHE b3 Abetol| sl o{EH Mz Y7},
2)et=4l 8txl2 mI|=l Zio| ol olsi5t7| ofHct
(= %)
2]
Base=i Ms (2) @awc omsoct PUEF
LS
m Fx| [w] (710) 42.4 38.2 19.4 100.0
o H
=t N; (351) 45.3 37.0 17.7 100.0
o Xt (359) 39.6 39.3 21.2 100.0
bl =
OHO—29A| (135) 452 40.7 14.1 100.0
Tt30—39A| (140) 38.6 40.7 20.7 100.0
TH40—49A| (158) 40.5 36.1 23.4 100.0
TH50—59A]| (140) 486 33.6 17.9 100.0
OH60M| Of A (137) 39.4 40.1 20.4 100.0
st 92 3l
1 3] (188) 51.1 36.2 12.8 100.0
2 3 (151) 457 39.7 14.6 100.0
3~ 4 3 (129) 37.2 39.5 23.3 100.0
5 3| O|A (242) 36.4 38.0 25.6 100.0
st= MF 7|2t
13 o9t (283) 45.9 37.1 17.0 100.0
Z 0|A ~ 2= o|ot (152) 434 40.8 15.8 100.0
2= 0|Ab ~ 17HE oot (112) 438 357 20.5 100.0
170 oA ~ 37HE ozt (62) 435 323 24.2 100.0
370 oA ~ 674 DO|Tt (57) 24.6 45.6 29.8 100.0
670 oA ~ 1 o|ot (16) 125 56.3 31.3 100.0
1 oAt (28) 46.4 32.1 214 100.0
st=0{ A=
OINMAE TIs (27) 18.5 44.4 37.0 100.0
Zictst 3|51 THs (100) 29.0 48.0 23.0 100.0
Co{ot Of= T (251) 422 36.3 215 100.0
My 28 (332) 485 36.1 15.4 100.0
= ot U = A
=28  Ed (526) 487 36.5 14.8 100.0
2m 0|48y (184) 24.5 429 32.6 100.0
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[E 2-3] &2 okl EX|EHoll st o|A 3) shAle] w2 =2t st X[HE 27| EHsict
[25-3] && ohfl EX|mal aHE ctS Atehol| chal oA MzisiNYrt?
3)etxte| w22 22} 329 xHeS 97| EHsic)
(2Hel %)
2]
Base=Zix| AElS (H) | @a¥ck  @ESo|ct ®;_fax' A
LS
m XMx| m (710) 53.5 33.4 13.1 100.0
o H
=t Xt (351) 55.8 328 1.4 100.0
of X} (359) 51.3 34.0 14.8 100.0
bl =
THO—20A]| (135) 60.0 31.9 8.1 100.0
Tt30—39A| (140) 457 40.0 14.3 100.0
TH40—49A]| (158) 50.0 36.1 13.9 100.0
O150—-59A| (140) 57.9 27.9 14.3 100.0
OH60M| OfA (137) 54.7 30.7 14.6 100.0
St WE Sl
1 3] (188) 55.9 346 9.6 100.0
2 3] (151) 51.7 39.1 9.3 100.0
3~ 4 3 (129) 53.5 31.8 14.7 100.0
5 3| oA (242) 52.9 29.8 17.4 100.0
st= MF 7|2t
1% o2t (283) 53.7 35.3 1.0 100.0
Z= 0|At ~ 2= {|ot (152) 48.0 40.8 1.2 100.0
2= 0|Ab ~ 17HE oot (112) 56.3 25.0 18.8 100.0
17He oAk ~ 37HE ojat (62) 54.8 29.0 16.1 100.0
37ME oA ~ 67HE oot (57) 57.9 31.6 10.5 100.0
670 O|& ~ 13 ojgt (16) 56.3 18.8 25.0 100.0
14 oA (28) 57.1 28.6 14.3 100.0
st=0{ A=
ONAE TIs (27) 25.9 481 25.9 100.0
Zickst 3|51 s (100) 43.0 36.0 21.0 100.0
CH{Ot Of= T (251) 49.8 37.1 13.1 100.0
M| 2& (332) 61.7 28.6 9.6 100.0
= ot U = A
21 AY (526) 59.3 31.7 8.9 100.0
2m 0|38y (184) 37.0 38.0 25.0 100.0
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4) 7tol=5xt ohff EX[Eeo| 7|7} ©HEl 22 FLelX| =Ct
[25-4] #& b A E CLS Atgol cis ofEH A 7t?
4)7tol =53} o 7|7} a2l #2 F2elX| 2 1=
(ct2)
= =5 | =2/o0
Base=Z#| @2t et @=L s Al
Ct P4Ct =
m M| m 29.6 45.5 24.8 0.1 100.0
=]
=
=1 N 28.8 447 26.5 0.0 100.0
o N; 30.4 46.2 23.1 0.3 100.0
& =
2HO- 20| 319 47.4 207 0.0 100.0
2E30—-39A| 29.3 421 28.6 0.0 100.0
2r40—-49AM| 30.4 424 26.6 0.6 100.0
2E50-59A| 26.4 49.3 24.3 0.0 100.0
DH0M| Olf 29.9 46.7 234 0.0 100.0
ot WE Sl
1 3| 31.9 42.6 25.5 0.0 100.0
2 3| 219 54.3 23.8 0.0 100.0
3~ 4 3 30.2 45.0 24.8 0.0 100.0
5 3| ol 32.2 42.6 24.8 0.4 100.0
sh= MF 712t
1z~ 0|t 28.3 44.5 27.2 0.0 100.0
Z 0Ol&t ~ 2= Do|gt 26.3 50.7 224 0.7 100.0
Z 0|4 ~ 17HE Do|gt 30.4 52.7 17.0 0.0 100.0
7HE o4 ~ 37HE o|ft 33.9 40.3 25.8 0.0 100.0
370 ol ~ 674 ojTt 26.3 31.6 421 0.0 100.0
670E ol& ~ 14 ojot 50.0 18.8 31.3 0.0 100.0
19 ol 42.9 53.6 3.6 0.0 100.0
20| Al
SINAE THs 444 33.3 22.2 0.0 100.0
et 313t Jks 26.0 52.0 22.0 0.0 100.0
Ehofgt ofs M= 251 47.4 27.1 0.4 100.0
™5 =gt 32.8 431 24.1 0.0 100.0
ot #7| =H 4
=4 g 31.7 454 22.6 0.2 100.0
=3 0/3H 23.4 45.7 31.0 0.0 100.0




0 T ETC 51 2 X IO YE0| B | MEE ZAHETA
[E 2-5] 22 okl EX[EHo st oA 5) LdEo| E7|o 2LF & 2990| o} o|sst7| ot
[25-5] =& ohfl EX|Eo S ctS Alstol| cha o LA Mzt Y 7t?
5) 20 E7|of] 2F U 290 o} o|sf5t7| ofFHch
(ck2l %)
2]
Base=Z1%| AlEl$ (8) | @a¥ct  eSo|ct ®;_fax' A
LS
m x| = (710) 23.4 47.6 29.0 100.0
o '
Lt Xt (351) 222 47.3 30.5 100.0
of Xt (359) 24.5 47.9 27.6 100.0
ﬁ [==]
OHO—29A| (135) 23.0 47.4 29.6 100.0
0t30—39A| (140) 24.3 46.4 29.3 100.0
O+40—49A| (158) 20.9 49.4 29.7 100.0
O150—59A| (140) 20.0 49.3 30.7 100.0
OHBOM| OfA (137) 29.2 453 25.5 100.0
Bt WE 3l
1 3| (188) 21.3 41.0 37.8 100.0
2 3 (151) 20.5 56.3 23.2 100.0
3~ 4 3 (129) 18.6 52.7 287 100.0
5 3| O|At (242) 29.3 446 26.0 100.0
32 &7 7|2t
Z o|gt (283) 20.1 47.3 325 100.0
1Z= 0|Ab ~ 2z o|at (152) 23.0 53.9 23.0 100.0
27 O|AF ~ 170 O|gt (112) 19.6 455 348 100.0
170 oA ~ 37 o2t (62) 29.0 435 27.4 100.0
37HE oA ~ 67 ot (57) 22.8 47.4 29.8 100.0
670 ola ~ 14 ojgt (16) 375 43.8 18.8 100.0
18 oA (28) 53.6 35.7 10.7 100.0
3t=20] M=
OIAAE THs (27) 37.0 40.7 222 100.0
Zictst 3|31 Ths (100) 26.0 54.0 20.0 100.0
Cto{ot Of= T (251) 20.7 51.0 28.3 100.0
™3 Z2st (332) 23.5 437 328 100.0
2y ohl Y| 2 4E
=1 43 (526) 27.0 487 24.3 100.0
21 0|4y (184) 13.0 446 424 100.0
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1O o H=C 51 2 XI20| U=0] 77| MSE ZAFETA
[E 3] st=ollM J}Z ol 2 ol EX|Ee| EJ| /¥
[26] Ealo] sH=2ollA 71 Zo| &2 okl EX|Ee| EI| RE2 FAQAIIR?
(EH9] © %)
s 2R Grap
) Al | @gtapit e H? Ilisan Hallasan RE/%
Base=71x| Hallasan X&lI | A
() | Hallasan T El et
ZEZ1N N7 .
. ZEE
v
m Mx| m (710) 35.5 34.2 15.8 14.4 0.1 100.0
o |
=t Xt (351) 387 30.8 16.0 14.5 0.0 100.0
5! x| (359) 323 37.6 15.6 14.2 0.3 100.0
ﬁ =5
THO—29A| (135) 28.9 43.0 13.3 14.8 0.0 100.0
TE30—39A]| (140) 33.6 329 20.7 12.9 0.0 100.0
TH40—49A]| (158) 43.0 323 12.0 12.0 0.6 100.0
OH50—59A| (140) 37.1 30.0 18.6 14.3 0.0 100.0
OH60M| Ol& | (137) 33.6 33.6 14.6 18.2 0.0 100.0
st WE Sl
1 3] (188) 441 35.6 12.8 7.4 0.0 100.0
2 3| (151) 29.8 31.8 17.2 21.2 0.0 100.0
3~ 4 3 (129) 357 37.2 13.2 14.0 0.0 100.0
5 3| O|AH|  (242) 32.2 33.1 18.6 15.7 0.4 100.0
=2 AF 717t
1= ojot | (283) 385 357 1.3 14.5 0.0 100.0
Z 0|4 ~ 2 o2t | (152) 30.3 33.6 17.1 18.4 0.7 100.0
27 OlA ~ 17HY D|ot (112) 339 33.0 17.9 15.2 0.0 100.0
17HE oA ~ 37HE ojgt (62) 21.0 419 27.4 97 0.0 100.0
370 oA ~ 674 OlTt (57) 47.4 36.8 10.5 5.3 0.0 100.0
670 oA ~ 14 OJot (16) 375 6.3 50.0 6.3 0.0 100.0
14 oA (28) 46.4 21.4 10.7 21.4 0.0 100.0
sh=20] Al
OINAE s (27) 33.3 18.5 25.9 222 0.0 100.0
Zickst 3151 7K | (100) 30.0 34.0 12.0 24.0 0.0 100.0
CHo{ot o= M= | (251) 355 36.7 13.9 13.5 0.4 100.0
M5 28| (332 37.3 337 17.5 1.4 0.0 100.0
oz ol BY| 2 AY
£ AY |  (526) 39.2 34.4 12.7 13.5 0.2 100.0
=M 0|dd (184) 25.0 33.7 24.5 16.8 0.0 100.0
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[E 4] 71& 2olE7| 42 ot EX|Ee ZEJ| 78
[27] 9ol il EX|E JolAM J1& Lot 42 EI| RS fAQAIIR?
(=] %)
BRI DM
_ A | Mallasan @RI o B3t mE/s
Base=7x| NZIll Hallasan A
(H) - o NZWl Hallasan =g
S g 20
B
m Fx|| W (710) 70.1 16.6 9.0 4.1 0.1 100.0
o =
=t Xt (351) 67.2 19.4 10.3 2.8 0.3 100.0
of Xt | (359) 73.0 13.9 7.8 5.3 0.0 100.0
il =
OHO—29A| (135) 71.9 16.3 9.6 2.2 0.0 100.0
0k30-39A | (140) 68.6 1.4 12.9 6.4 0.7 100.0
0t40—49M| | (158) 76.6 13.3 5.7 4.4 0.0 100.0
0t50—-59A1 | (140) 68.6 19.3 7.9 43 0.0 100.0
OH6OM| O|AH | (137) 64.2 23.4 95 2.9 0.0 100.0
st g2 3l
1 3| (188) 777 10.6 85 32 0.0 100.0
2 3| (151) 64.9 21.9 9.9 3.3 0.0 100.0
3~ 43 (129) 69.8 14.7 10.9 47 0.0 100.0
5 3| o|AH|  (242) 67.8 19.0 7.9 5.0 0.4 100.0
st=2 xF 7|2t
1= 0|3t | (283) 71.0 15.5 1.0 25 0.0 100.0
Z 0olA ~ 2 oj2t | (152) 64.5 21.1 9.9 3.9 0.7 100.0
27 O|AF ~ 17HY o|ot (112) 72.3 15.2 5.4 7.1 0.0 100.0
17HE oA ~ 37HE ojft (62) 74.2 97 1.3 4.8 0.0 100.0
370 oA ~ 670 DO|Tt (57) 71.9 24.6 0.0 35 0.0 100.0
670 oAt ~ 13 o|ot (16) 875 0.0 6.3 6.3 0.0 100.0
14 oA (28) 60.7 17.9 14.3 7.1 0.0 100.0
St=20{ Al
ONAE THs (27) 44.4 18.5 25.9 1.1 0.0 100.0
Zickst 513 7K | (100) 62.0 18.0 1.0 9.0 0.0 100.0
CHO{ot Ob= MZ | (251) 75.3 16.3 6.8 1.6 0.0 100.0
M5 28| (332) 70.8 16.3 8.7 3.9 0.3 100.0
B ol BY| 2 dE
£m A | (526) 70.5 16.9 9.1 34 0.0 100.0
=M 0|gd (184) 69.0 15.8 8.7 6.0 0.5 100.0
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[E 5-1] 22 X|H2S Y02 B7|8 o 27| 4 E7| &4 1) MM
[210-1] ARl ZHo| 2 XY A2z 7|8 0 7] 4 A2 FAAI? 1)HM
(ck2 : %)
Base=ZiA] Atz (22) ®*j; / omEs =E/msy A
m A m (710) 69.3 30.3 0.4 100.0
o =
= Xt (351) 66.7 33.0 0.3 100.0
of Xt (359) 71.9 27.6 0.6 100.0
il =
THO—29A]| (135) 72.6 26.7 0.7 100.0
OE30—39A]| (140) 70.0 30.0 0.0 100.0
TH40—49AM| (158) 73.4 25.9 0.6 100.0
OH50-59A]| (140) 67.1 329 0.0 100.0
OH6OM| O A (137) 62.8 36.5 0.7 100.0
St "2 3l
1 3 (188) 73.4 25.5 1.1 100.0
2 3] (151) 66.2 338 0.0 100.0
3~ 4 3 (129) 76.0 24.0 0.0 100.0
5 3 0|y (242) 64.5 35.1 0.4 100.0
st= MF 7|7t
1z ojgt (283) 69.6 29.7 0.7 100.0
1= O|AF ~ 2 n|gt (152) 62.5 375 0.0 100.0
2= 0|Ab ~ 17HE oot (112) 74.1 25.9 0.0 100.0
17HE o|A ~ 374 ojot (62) 79.0 21.0 0.0 100.0
37HEY oA ~ 67i" ojot (57) 64.9 35.1 0.0 100.0
67HY O|A ~ 1A D|ot (16) 81.3 18.8 0.0 100.0
14 o4& (28) 64.3 32.1 3.6 100.0
EEGIESE
ONAE THs (27) 63.0 37.0 0.0 100.0
Ztetst )8t Jts (100) 68.0 32.0 0.0 100.0
CHHOt Of= M= (251) 70.9 29.1 0.0 100.0
M3 2st (332) 69.0 30.1 0.9 100.0
= ol By 2 dE
=M 4 (526) 68.3 314 0.4 100.0
2m 0|38y (184) 72.3 27.2 05 100.0
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[Z 5-2] 22 XHS 202 Z7|8 of L7 A2 E7| W4 2) MEet
[210-2] AFZEl &9 2 xHS 20z FI|S ol L7 42 U2 FAAIIR? 2)M =t
(ck2 : %)
Base=71x| ALl (H) @ 127 7 OrERE =RE/FSH A
m A m (710) 68.9 30.7 0.4 100.0
o =
ot Xt (351) 65.2 34.2 0.6 100.0
of Xt (359) 72.4 27.3 0.3 100.0
il =
TH9—29A| (135) 748 24.4 0.7 100.0
Tt30—39A| (140) 69.3 30.7 0.0 100.0
Tt40—49AM| (158) 74.1 25.3 0.6 100.0
OH50-59A| (140) 65.0 343 0.7 100.0
at60M| Of A (137) 60.6 39.4 0.0 100.0
St "2 3l
1 3] (188) 70.7 28.2 1.1 100.0
2 3| (151) 70.2 29.8 0.0 100.0
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